1/c0 do/dA

Ratio to ALEPH

0.5

91 GeV ee vy*/Z (Hadronic)
= T T — T T T T T T L L B R IR E
=n =
[ i‘ _:
= = =
~ ii -
= |- =
= iﬁ S
— ‘i _1
~ 8 -
s _
= 93&9 =
- &9%999 . -
§_ %%i}!g/g O _§
[ _i:ﬁ’ 3 _]
= ToReE
— m  ALEPH ! =
= --O-- Herwig++ 2.4.2 default =
— --f3-- Herwig 7.2.1 default L
f!_-!-!-!-!-l-!-!=!-!-l-!:!:I,:!:!(b:l-',.“!\:T/!E:_?
= _ HETRSE SR i
- Sazdrc 941 fu il
- L STETee T L T e
- Pog © tIe Ll el g
- O R00 B0 g o @Eal LHY
IPN=I=EEREES @‘EQ%E‘ 285y e B TR T
S 3 Té N |
- Eg B
P T T TP T | P T T SR B P T TP S S |
0 0.1 0.2 0.3

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


